Name: Binswe ( %"j

Date:

Systems of Equations

c. Solve for'x

How to find the coordinates of a point where 2 lines meet.

a. Make both equations look like : ‘y =ax + b’

b. Make both equations equal to each other

d. Plug the value of ‘x’ back into one of the two equations and solve for ‘y’

1) Solve for x then, solve fory.
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2) What are the coordinates of the point where the following two lines meet?

Equation1l: y=2x+6 Equation2: y= 6x-8
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3) What are the coordinates of the point where the following two lines meet?

Equation1: 2y=-4x+ 16 Equation 2: -10x+5y+80=0
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4) What are the coordinates of the point where the following two lines meet?

3y =45x + 180 and 2y=26x+ 160
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5) What is the value of ‘y’ when both equations below intersect (meet)?

2y=3x-14 and 3y+45x-6=0
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6) What are the coordinates of the point where both lines from the graph below intersect (meet)?

Two steps: 1) find the equation of both lines \ !
2) then solve for x and y. ] Li Nk,
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7) Sarah and Ashley both work at the same store.
Sarah gets a 15$ base salary and earns 4$ for every shirt that she sells. \ dﬁ,hi : F
Ashley gets a 25$ base salary and earns 3$ for every shirt that she sells. 0 ::)

@Q graph of this situation
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a) How many shirts must Sarah and Ashley each sell to make the same amount of money?
b) How much money will they each earn?

Sarah’s Rule:
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a) Number of shirts when they make the same money = / 0

b) Amount of money they earn when they make the same money = $ 5 6
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8) What is the point of intersection between the lines defined by the linear equations below?

Eq.1) y=4.5x+8 Eq.2) y=-3.5x-64
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9) What is the point of intersection between the lines defined by the equations below?
Eq.1) 6y = 5x- 42
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10) What is the point of intersection between lines 1 and 2 shown below? 'F:p f\d -4
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11) What is the point of intersection between lines 1 and 2 shown below?

Line 2: @ } 6){ %—\8.5 - - u\( + \[{\
A y = 1.5X + 8.5 ' o
w2 -89

y |, Sy +0.4x = R

S—
lax = 4.5
Line 1: copls f{?
y = -0.4x + 18 : /.9

Answer ( 5 . H? )




( xr‘p

12)Find the point of intersection between lines 1 and 2.
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